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Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

Which of the following raw materials for the manufacture of paper is used in the largest quantity? / कागज के
िनमा└ण के िलए िनђिलεखत कŗ ेमाल म┼ स ेकौन सा सबस ेबड़ी मा╨ा म┼ ▀योग िकया जाता ह?ै

Salai wood / सलई लकड़ी

Sabai grass / सबई घास

Cotton rags / कपास लΟा

Bamboo / बासं

Correct Answer :­Bamboo / बासं 

2)

Question Stimulus :­

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with
designs. When folded, which box will it be? / दायी ंओर पर आकृित िविभК पनैलो ंपर िडज़ाइनो ंके साथ िबना तह
िकया एक बċा िदखाती ह|ै नीच ेिडज़ाइनो ंवाल ेबċो ंकी चार ड├ाइगं ेह╒| फोֵ करन ेपर, कौन सा बċा होगा?



Correct Answer :­  

3)

Question Stimulus :­

In India, political parties are given recognition by ­ / भारत म┼, राजनिैतक दलो ंको इनके ύारा माРता ▀ाЧ होती है

President / राױ├पित

Law Commission / िविध आयोग

Speaker of Lok Sabha / लोकसभा अЄā

Election Commission / चनुाव आयोग

Correct Answer :­Election Commission / चनुाव आयोग 

4)

Question Stimulus :­

Who was known as the liberator of press in India? / भारत म┼ ▀से के मεु♣दाता कौन कहलात ेथ?े

Lord Minto / लाड└ िमЉो

Lord Wellesley / लाड└ वलेेּेר

Lord Auckland / लाड└ ऑकल╒ड

Lord Metcalfe / लाड└ मटेका־

Correct Answer :­Lord Metcalfe / लाड└ मटेका־ 

5)

Question Stimulus :­

‘Bell’ is related to ‘sound’ in the same way as ‘lamp’ is related to / ‘घΌी’ सबंिंधत ह ै ‘Ѕिन’ से
उसी ▀कार स ेिजस तरह ‘लѓै’ सबंिंधत ह ैइससे

Flame / ·ाला

Light / ▀काश



Wick / बाती

Oil / तले

Correct Answer :­Light / ▀काश 

6)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements: /  कथन:

Some mails are letters  /  कुछ मले प╨ ह╒

All letters are posts  /  सभी प╨ डाक ह╒

Conclusions: /  िनתष└:

I. Some posts are letters  /  I.कुछ डाक प╨ ह╒

II. Some letters are not mails  /  II.कुछ प╨ मले नही ंह╒

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता ह ै

7)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements: /  कथन:

Some cats are dogs  /  कुछ िबε׃या ंकुΟ ेह╒

No dog is black  /  कोई कुΟा काला नही ंहै

Conclusions:  /  िनתष└:

I. Some cats are black  /  I. कुछ िबε׃या ंकाली ह╒

II. Some cats are not black / II. कुछ िबε׃या ंकाली नही ंह╒



Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion II follows / केवल िनתष└ II िनकलता ह ै

8)

Question Stimulus :­

A team of five is to be selected from amongst five boys (A, B, C, D and E) and four girls (P,
Q, R and S). Some criteria for selection are: / पाचँ लड़को(ंA,B,C,D,और E) और चार
लड़िकयो(ंP,Q,R,और S) म┼ स ेपाचँ लोगो ंकी एक टीम का चयन करना ह।ै चयन की कसौटी ह╒:

 

A and S have to be together. / A और S साथ होन ेचािहए ।

P cannot be put with R. / P को R के साथ नही ंरखा जा सकता।

D and Q cannot go together. / D और Q एक साथ नही ंजा सकत े।

C and E have to be together. / C और E एक साथ ही होन ेचािहए ।

R cannot be put with B. / R को B के साथ नही ंरखा जा सकता।

 

If including P at the least three members are girls, the members of the team  other  than P
are / अगर P को िमलाकर तीन लड़िकया ँह╒,तो P के अितδर♣ टीम के सदּק होगंे

Q,S,A,B

Q,S,B,D

Q,S,C,E

R,S,A,D

Correct Answer :­Q,S,A,B 

9)

Question Stimulus :­

If bad implies going north, and its bad, then it’s going north. / यिद खराब का अथ└ ह ैउΟर की ओर
जाना,  और यह खराब ह,ै तो यह उΟर की ओर जा रहा ह।ै



True / सही

False / गलत

May be / हो सकता है

Irrelevant / अ▀ासिंगक

Correct Answer :­True / सही 

10)

Question Stimulus :­

Where did Gautam Buddha aĥains nirvana? / जहा ंगौतम बοु न ेिनवा└ण ▀ाЧ िकया था?

Gaya / गया

Bodh Gaya / बोधगया

Lumbini / लεुѕनी

Sarnath / सारनाथ

Correct Answer :­Bodh Gaya / बोधगया 

11)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ۴िױ
स ेनीच ेिदए गए कथन के समान ह ै:

If you use the formula then you can solve the problem. / यिद आप स╨ू का ▀योग करत ेह╒ तो आप
सवाल को हल कर सकत ेह╒।

If you do not use the formula then you cannot solve the problem. / यिद आप स╨ू का
▀योग नही ंकरत ेह╒ तो आप सवाल को हल नही ंकर सकत ेह╒।

If you solve the problem then use the formula. / यिद आप सवाल हल कर रह ेह╒ तो स╨ू का ▀योग
कर┼।

Using the formula is a must to solve the problem. / सवाल को हल करन ेके िलए स╨ू को ▀योग
करना आवפक ह।ै

If the problem is not solved by you then you must not have used the formula. / यिद
सवाल आपके ύारा हल नही ं╟आ ह ैतो आपन ेस╨ू का ▀योग नही ंिकया होगा।

Correct Answer :­If the problem is not solved by you then you must not have used
the formula. / यिद सवाल आपके ύारा हल नही ं╟आ ह ैतो आपन ेस╨ू का ▀योग नही ंिकया होगा। 



12)

Question Stimulus :­

Which Subject was transferred from state list to Concurrent list by the 42nd amendment of the Constitution? /
सिंवधान के 42व┼ सशंोधन के ύारा िकस िवषय को राǿ की सचूी स ेसमवतत┬ सचूी म┼ सथ्ानातंδरत िकया गया था?

Agriculture / कृिष

Education / िशāा

Irrigation / िसचंाई

Local Self­Government / эथानीय ּתायतत् शासन

Correct Answer :­Education / िशāा 

13)

Question Stimulus :­

In the following quesĕon, there is certain relaĕonship between the first two terms. Choose the fourth term from the
following opĕons which has a similar kind of relaĕon with the third term. / िनђ ▀ע म┼, पहल ेतो पदो ंके बीच िकसी
▀कार स ेकोई सबंधं ह|ै िनђ िवकֽो ंम┼ स ेचौथा पद चिुनय ेिजसका तीसरे पद के साथ उसी ▀कार का सबंधं ह|ै

Oil : Lamp :: Wax: ? / तले : लѓै :: मोम: ?

Bulb / बֿ

Candle / मोमबΟी

Light / ▀काश

Dark / अधंरेा

Correct Answer :­Candle / मोमबΟी 

14)

Question Stimulus :­

What was the timeline in which the Indus Valley Civilization existed? / िसЖ ुघाटी सэता िकस काल म┼ िवϋमान
थी?

500 BC to 250 BC / 500 ईसा पवू└ स े250 ईसा पवू└

1700 BC to 2600 BC / 1700 ईसा पवू└ स े26 00 ईसा पवू└

4000 BC to 3500 BC / 4000 ईसा पवू└ स े3500 ईसा पवू└



1 AD to 1500 AD / 1 ईसा पמात ्स े1500 ईसा पמात्

Correct Answer :­1700 BC to 2600 BC / 1700 ईसा पवू└ स े26 00 ईसा पवू└ 

15)

Question Stimulus :­

_______ is ranked first in both domestic and foreign tourist arrivals for the year 2014 at
the national level. /_______,  घरेल ूऔर िवदशेी पय└टको ंके आगमन म┼ राױ├ीय ּהर पर वष└ 2014 म┼ पहल ेэथान
पर ह।ै

Tamil Nadu / तिमल नाडु

Kerala / केरल

Rajasthan / राजэथान

Punjab / पजंाब

Correct Answer :­Tamil Nadu / तिमल नाड ु

16)

Question Stimulus :­

Six people A,B,C,D,E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C ;D is not
adjacent to C or E; B and C are adjacent; F is in the middle of D and C. / छः लोग A,B,C,D,E
और F ज मीन पर षटक्ोणीय आकर म┼ बठैे ह।ै षटक्ोण की सभी भजुाओ ंकी लबंाई एक समान ह।ै B या C के बगल म┼
A नही ंह;ै C या E के बगल म┼ D नही ंह;ै B और C बगल म┼ ह╒ ; D और C के बीच F ह।ै

If one neighbour of A is D, who is the other one? / अगर A का एक पड़ोसी D ह,ै तो दूसरा एक कौन
होगा?

B

C

E

F

Correct Answer :­C 

17)

Question Stimulus :­

A farmer grows 3 crops in rotaĕon – A, B, C. A is grown between the months Jan‐June, B between May – September
and C between August‐December. Each crop takes 3 months from sowing to harvesĕng. At a ĕme only crop can be



grown. / एक िकसान िनयिमत आवत└न म┼ 3 फसल┼ उगाता ह ै‐ A, B, C। A जनवरी ‐जनू महीन ेके बीच, B मई ‐िसतѕर के बीच
और C अगּה ‐िदसबंर के बीच उगाया जाता ह।ै ▀έके फसल म┼ बवुाई स ेकटाई के िलए 3 महीन ेलगत ेह╒ । एक समय म┼
केवल एक फसल उगाई जा सकती ह।ै

If the farmer sows B in June, when can C be sown at the earliest? / यिद िकसान जनू म┼ B बोता ह,ै तो C को जֻ स ेजֻ
कब बोया जा सकता ह?ै

September / िसतѕर

October / अ♂ूबर

November / नवबंर

December / िदसबंर

Correct Answer :­September / िसतѕर 

18)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  /  कथन:

All parks are medicines.  /  सभी उϋान दवा ह╒।

All medicines are doctors.  /  सभी दवाय┼ डॉ♂र ह╒।

Conclusions:  /  िनתष└:

I. No doctors are parks.  /  I. कोई डॉ♂र उϋान नही ंह╒।

II. All parks are doctors. / II.  सभी उϋान डॉ♂र ह╒।

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion II follows / केवल िनתष└ II िनकलता ह ै

19)

Question Stimulus :­

Who was the ruler of Bhopal when India won independence? / भारत की ּתत╨ंता के समय भोपाल का शासक कौन



था?

Nawab Hamidullah Khan / नवाब हमीदु׃ाह खान

Nawab Sultan Jahan / नवाब सुַ ान जाहाँ

Nawab Shajahan Begum / नवाब शाहजहा ंबगेम

Mansoor Ali Khan Pataudi / मसंरू अली खान पटौदी

Correct Answer :­Nawab Hamidullah Khan / नवाब हमीदु׃ाह खान 

20)

Question Stimulus :­

Which famous playback singer was born in Khandwa, Madhya Pradesh? / मЄ ▀दशे खडंवा म┼ कौन स े▀िसο
पाק└ गायक पदैा ╟ए थ?े

Kishore Kumar / िकशोर कुमार

Mohammed Rafi / महुњद रफ़ी

Mahendra Kapoor / मह┼╪ कपरू

Kundan Lal Saigal / कुंदन लाल सगैल

Correct Answer :­Kishore Kumar / िकशोर कुमार 

21)

Question Stimulus :­

The Right of Children to Free and Compulsory Education (RTE) was passed by Parliament
of India in / िनःश№ु एव ंअिनवाय└ िशāा िवधयेक (आर टी ई) भारतीय ससंद ύारा  ______ म┼ पाδरत ╟आ था

2005

2009

2008

2010

Correct Answer :­2009 

22)

Question Stimulus :­



Jignesh took a right turn first, then a right and then a le├ and is now heading north. Which direcĕon was he moving
towards at the beginning? / िजĬशे पहल ेदािहन ेमड़ुा, िफर दािहन ेऔर िफर बाएं और अब वह उΟर की ओर बढ़ रहा ह।ै
िकस िदशा की ओर वह श╛ुआत म┼ बढ़ रहा था?

North / उΟर

South / दिāण

East / परूब

West / पिמम

Correct Answer :­West / पिמम 

23)

Question Stimulus :­

Gujarat is famous for this dance form / गजुरात इस नέृ शलैी के िलए ▀िसο ह:ै

Dandiya / डािंडया

Jhumar / झमूर

Ghumar / घमूर

Loor / लरू

Correct Answer :­Dandiya / डािंडया 

24)

Question Stimulus :­

Tamil Nadu has a______. / तिमलनाड ुम┼ ______ ह।ै

Unicameral Legislature / सदनीय िवधानमडंल

Bicameral Legislature / िύसदनीय िवधानमडंल

Tricameral Legislature / ि╨सदनीय िवधानमडंल

None of the above / इनम ेस ेकोई भी नहीं

Correct Answer :­Unicameral Legislature / सदनीय िवधानमडंल 

25)

Question Stimulus :­



A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no
break in between.  / एक कूδरयर एज┼ट को 3 गिलयो ंम┼ डाक दनेा ह।ै ▀έके गली म┼ 5 घर ह╒। वो एक डाक दने ेम┼ 2
िमनट लतेा ह ैऔर हर गली के हर घर म┼ जान ेम┼ 5 िमनट लतेा ह।ै वो अगली गली म┼ जान ेम┼ 20 िमनट लतेा ह।ै उसका िदन
सबुह 10 बज ेश╜ु होता ह ैऔर दोपहर 3 बज ेख़Ϋ होता ह।ै वह इस बीच कोई िवराम नही ंलतेा।

If the postman starts at 2:00 PM, how many houses will he be able to cover by 3:00 PM? /
यिद डािकया 2:00बज ेपर काम श╜ु करता ह ैतो वह 3:00बज ेतक िकतन ेघरो ंम┼ प╨ िवतδरत कर पायगेा?

7 houses / 7 घर

10 houses / 10 घर

8 houses / 8  घर

6 houses / 6 घर

Correct Answer :­7 houses / 7 घर 

26)

Question Stimulus :­

The National Youth Policy, 2014 defines youth as persons in the age group of _______ years. / राױ├ीय यवुा नीित, 2014
____ वष└ के आय ुसमहू म┼ יε♣यो ंके ╜प म┼ यवुाओ ंको पδरभािषत करता ह।ै

18­29

15­30

18­30

15­29

Correct Answer :­15­29 

27)

Question Stimulus :­

Who amongst the following artists from Madhya Pradesh is known for his art with nails? / मЄ ▀दशे के
िनђिलεखत कलाकारो ंम┼ स ेकौन कीलो ंके साथ अपनी कला के िलए जाना जाता ह?ै

Mushtaq Ali / मुסाक़ अली

Mohammed Bilal Khatri / मोहњद िबलाल ख╨ी

Shahmir Khan / शाहमीर खान



Wajid Khan / वािज़द खान

Correct Answer :­Wajid Khan / वािज़द खान 

28)

Question Stimulus :­

Who was the first Indian scientist to receive the Nobel Prize? / नोबले परुस ्कार जीतन ेवाल ेपहल ेभारतीय
वŵैािनक कौन थ?े

Hargobind Khurana / हरगोिबदं खरुाना

CV Raman / सीवी रमन

Subrahmanyan Chandrashekar / स█ुमεΔम च╪ंशखेर

Vikram Sarabhai / िव╡म साराभाई

Correct Answer :­CV Raman / सीवी रमन 

29)

Question Stimulus :­

Bhojeshwar (Shiva) Temple is found in____. / भोजेקर (िशव) मिंदर ____ म┼ ह।ै

Bhopal / भोपाल

Jabalpur / जबलपरु

Anuppur / अनपूपरु

Bhojpur / भोजपरु

Correct Answer :­Bhojpur / भोजपरु 

30)

Question Stimulus :­

The Panchsheel agreement was signed between India and / पचंशील समझौत ेपर भारत और िकसके बीच हּהाāर
िकए गए थ?े

Pakistan / पािकּהान

China / चीन

Russia / ╜स



USA / सयं♣ु राǿ अमδेरका

Correct Answer :­China / चीन 

31)

Question Stimulus :­

Which state in India touches the boundaries of the largest number of other States? / भारत म┼ िकस राǿ को सबसे
अिधक अР राǿो ंकी सीमाओ ंकी सġंा को छूती ह?ै

Andhra Pradesh / आ╫ं ▀दशे

Bihar / िबहार

Madhya Pradesh / मЄ ▀दशे

Uttar Pradesh / उΟर ▀दशे

Correct Answer :­Uttar Pradesh / उΟर ▀दशे 

32)

Question Stimulus :­

Alha folk songs are commonly sung in which region of Madhya Pradesh? / आוा लोक गीत,
आमतौर पर मЄ ▀दशे के िकस ā╨े म┼ गाय ेजात ेह╒?

Bundelkhand / बुंदलेखडं

Baghelkhand/ बघलेखडं

Malwa / मालवा

Nimar / िनमार

Correct Answer :­Bundelkhand / बुंदलेखडं 

33)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ۴िױ
स ेनीच ेिदए गए कथन के समान ह ै:

If she is not happy then she will not dance. / अगर वह खशु नही ंह ैतो वह नही ंनाचगेी ।

If she is happy then she will dance. / यिद वह खशु ह ैतो वह नाचगेी।

If she does not dance then she is happy. / यिद वह नाचती नही ंह ैतो वह खशु  ह।ै



If she does not dance then she is not happy. / यिद वह नाचती नही ंह ैतो वह खशु नही ंह।ै

It is required to dance if you are happy. / यिद आप खशु ह╒ तो आपको नाचना चािहए।

Correct Answer :­If she does not dance then she is not happy. / यिद वह नाचती नही ंह ैतो वह
खशु नही ंह।ै 

34)

Question Stimulus :­

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /
िनђिलεखत ▀ע म┼ एक साथ└क ╡म म┼ शоो ंकी יवэथा कर┼ और उसके बाद नीच ेिदए गए िवकֽो ंम┼ स ेसबस ेउपय♣ु
अन╡ुम का चयन कर┼:

1. Cut 2. Put on 3. Mark 4. Measure 5. Tailor

1. कटाई 2. पहनना 3. िनशान 4. नाप 5. दज़┬

1,3,2,4,5

2,4,3,1,5

3,1,5,4,2

4,3,1,5,2

Correct Answer :­4,3,1,5,2 

35)

Question Stimulus :­

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / िनђ ▀ע म┼, चार शо िदये
गय ेह╒, िजनम┼ स ेतीन िकसी ▀कार स ेसमान ह╒ और बाकी एक अलग ह|ै अलग वाला ŵात कीिजय|े

Delhi / िद׃ी

Mumbai / मुंबई

Kolkata / कोलकाता

Rangoon / रंगनू

Correct Answer :­Rangoon / रंगनू 

36)

Question Stimulus :­



How many numbers immediately follow a letter in the following sequence? / िनђ अन╡ुम म┼,
िकतनी सġंाएँ ऐसी ह╒, जो एक अāर के तरुंत बाद ह╒?

36W^T1N@5GB8<+$EZLR7?Q>2*H4&KP9?#YS

7

6

5

4

Correct Answer :­5 

37)

Question Stimulus :­

Among the five villages, Madgaon is smaller than Rajgaon. Chadgaon is larger than
Sudgaon and Birgaon is larger than Rajgaon, but not as larger as Sudgaon. Which is the
largest village? / पाचँ गावँो ंम┼ स ेमदगावँ, राजगावँ स ेछोटा ह।ै छदगावँ, सदगावँ स ेबड़ा ह ैऔर बीरगावँ, राजगावँ
स ेबड़ा ह,ै पर सदगावँ जसैा बड़ा नही ंह।ै सबस ेबड़ा गावँ कौन सा ह?ै

Madgaon / मदगावँ

Rajgaon / राजगावँ

Chadgaon / छदगावँ

Sudgaon / सदगावँ

Correct Answer :­Chadgaon / छदगावँ 

38)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ۴िױ
स ेनीच ेिदए गए कथन के समान ह:ै

If the clouds are not black then it will not rain and we can play cricket. / यिद बादल काल ेनहीं
ह╒ तो बाδरश नही ंहोगी और हम ि╡केट खले सकत ेह╒।

If it rains then the clouds are black and we cannot play cricket. / यिद बाδरश होती ह ैतो
बादल काल ेह╒ और हम ि╡केट नही ंखले सकत ेह╒।

If it rains then the clouds are black and we can play cricket. / यिद बाδरश होती ह ैतो बादल
काल ेह╒ और हम ि╡केट खले सकत ेह╒।



If it does not rain then the clouds are not black and we can play cricket. / यिद बाδरश
नही ंहोती ह ैतो बादल काल ेनही ंह╒ और हम ि╡केट खले सकत ेह╒।

If the clouds are black then it will rain and we can play cricket. / यिद बादल काल ेह╒ तो
बाδरश होगी और हम ि╡केट खले सकत ेह╒।

Correct Answer :­If it rains then the clouds are black and we cannot play cricket. / यिद
बाδरश होती ह ैतो बादल काल ेह╒ और हम ि╡केट नही ंखले सकत ेह╒। 

39)

Question Stimulus :­

Southernmost point in India is / भारत म┼ दिāणतम िबदं ुह:ै

Kanyakumari / कРाकुमारी

Indira point / इिंदरा पॉइटं

Indira col / इिंदरा कोल

Kibithu / िकिबथु

Correct Answer :­Indira point / इिंदरा पॉइटं 

40)

Question Stimulus :­

Pointing to lady in a bus Rahul said “She is the daughter of my father’s son.”  How is
Rohan related to her? / बस म┼ एक मिहला की ओर सकंेत दते े╟ए रा╟ल न ेकहा, “वह मरेे िपता के बटे ेकी प╨ुी ह।ै”
रोहन उसस ेिकस ▀कार सबंिंधत ह?ै

Brother / भाई

Cousin / चचरेा भाई

Father / िपता

Uncle / अकंल

Correct Answer :­Uncle / अकंल 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

A, B and C can do a work in 24, 16 and 12 days respectively working together. How many days will it take to
complete the work? / A, B और C िकसी काम को साथ करत े╟ए ╡मश: 24 िदन, 16 िदन और 12 िदन म┼ कर



सकत ेह╒। काम को ख़तम करन ेम┼ िकतना समय लगगेा?

5  days  / 5   िदन

5  days / 5   िदन

5  days / 5   िदन

5  days / 5   िदन

Correct Answer :­5  days / 5   िदन 

2)

Question Stimulus :­

Complete the series choosing the missing number: / िवलЧु सġंा चनुकर ▓खंला को परूा कीिजए :

1,6,13,22,33,_____

44

45

46

47

Correct Answer :­46 

3)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े╡म म┼, अगली आकृित
कौन सी होगी?



Correct Answer :­  

4)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवलЧु अāर चनुकर ▓खंला को परूा कीिजए  :c _
bbb _  _ abbbb _ abbb _

aabcb

abccb

abacb

bacbb

Correct Answer :­abccb 

5)

Question Stimulus :­

Complete the series choosing the missing leĥer/s: / िवलЧु अāर चनुकर ▓खंला को परूा कीिजए : a _ bc _ a _ bcda _
ccd _ bcd _

adbcad

adbbad



acbdbb

abddbd

Correct Answer :­adbbad 

6)

Question Stimulus :­

What is the minimum number of straight lines needed to make the following figure? / िनђ आकृित को बनान ेके िलये
Рनूतम सġंा म◌ें िकतनी सीधी रेखाओ ंकी आवפकता होगी?

15

10

8

18

Correct Answer :­10 

7)

Question Stimulus :­

Which two of the following four addresses are EXACTLY same? / िनђ चार पतो ंम┼ स ेकौन स ेदो पते
एकदम समान ह╒?

 

(i) M. Bernard

VAUCE

53300 COUESNES VAUCE

FRANCE

 

(ii) M. Bernard

VAUCE



53300 COUSENES VAUCE

FRANCE

 

(iii) M. Bernard

VAUCE

53030 COUESNES VAUCE

FRANCE

 

(iv) M. Bernard

VAUCE

53300 COUESNES VAUCE

FRANCE

I and II

I and IV

II and III

III and IV

Correct Answer :­I and IV 

8)

Question Stimulus :­

A rope was cut into 3 pieces of lengths 3  m, 4  m & 2m.What fraction is the part of 4

 m length to the whole length? / एक रֹוी को 3 मी, 4 मी और 2 मी लѕ ेतीन टकुड़ो ंम┼ काटा गया| 4
 मी लѕाई का भाग का परूी लѕाई के सगं िभК ℓा होगा?

 meters

meters



 meters

meters

Correct Answer :­  meters 

9)

Question Stimulus :­

The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination. / नीच ेदी गई ▓खंला अāरो ं एव ंसġंाओ ंका अन╡ुम ▀योग करती ह|ै गलत सयंोजन पहचािनय|े

 

(i) XY789X2Y6         

(ii) XY189X2Y6        

(iii) XY789X2Y6      

(iv) XY789X2Y6

i

ii

iii

iv

Correct Answer :­ii 

10)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनђ ▀ע म┼, सġंा ▓खंला म┼ एक पद गलत ह|ै गलत पद ŵात कीिजय|े  

121,143,166,187,209

121

187

166



209

Correct Answer :­166 

11)

Question Stimulus :­

Allen Solly trouser is marked at Rs. 1,200. A discount of 12% is given on the marked price. What is the net
selling price? / एलने सोली पतलनू का िचिֿכत मूׂ  1,200 ╛पय ेह।ै िचिֿכत मूׂ  पर 12% की छूट दी गयी ह।ै नटे िब╡ी मूׂ
ℓा ह?ै

Rs. 2,056 / 2,056 ╛पये

Rs. 3,056 / 3,056 ╛पये

Rs.1,056 / 1,056 ╛पये

Rs. 4,056 / 4,056 ╛पये

Correct Answer :­Rs.1,056 / 1,056 ╛पय े

12)

Question Stimulus :­

Evaluate   /  का मान होगा

19

18

21

20

Correct Answer :­20 

13)

Question Stimulus :­

Two dice are thrown simultaneously. The probability of geħng a sum of at most 5 is / दो पास ेएक साथ फ┼के गए। क◌्या
सभंावना ह ैिक ّादा स ेّादा सġंाओ ंका कुल 5 आएं?

1/4

5/18



1/9

1/12

Correct Answer :­5/18 

14)

Question Stimulus :­

Two dice are thrown simultaneously. The probability of geħng a sum of 8 is / दो पास ेएक साथ फ┼के गए। ℓा सभंावना
ह ैसġंाओ ंका कुल 8 आएं?

4/36

5/36

1/6

1/4

Correct Answer :­5/36 

15)

Question Stimulus :­

In a certain code, MADRAS is written as NBESBT, how is MUMBAI coded? / िकसी खास कोड
म┼, MADRAS को NBESBT िलखा जाता ह,ै तो MUMBAI को कैस ेकोिडत िकया जायगेा?

NVNCBJ

NVKCBJ

NVNCZJ

NVNDBJ

Correct Answer :­NVNCBJ 

16)

Question Stimulus :­

In a certain code language, polo folo zolo means sun pulls earth, zolo solo bolo means
earth is round, and solo sula soka means what is this. Which is the word for bolo in that
code language? / िकसी खास कोड भाषा म┼, polo folo zolo का मतलब ह ैsun pulls earth, zolo solo
bolo का मतलब ह ैearth is round और  solo sula soka का मतलब ह ैwhat is this | उसी कोड भाषा म┼ bolo
के िलए ℓा शо ह?ै



round

earth

sun

what

Correct Answer :­round 

17)

Question Stimulus :­

In a certain code language, ata pita fita means a great effort, matta pita data means man is great, and futa fota fita means
have a seat. Which is the word for ata in that code language? / िकसी खास कोड भाषा म┼, ata pita fita का मतलब ह ैa
great effort, matta pita data का मतलब ह ैman is great और futa fota fita का मतलब ह ैhave a seat | उसी कोड भाषा म┼ ata
के िलए ℓा शо ह?ै

great

seat

effort

man

Correct Answer :­effort 

18)

Question Stimulus :­

Find the average of first five multiples of 9. / 9 के पहल ेपाचँ ब╟गणुो ंका औसत िनकािलय|े

18

21

27

30

Correct Answer :­27 

19)

Question Stimulus :­

In a certain code language, hela dela kela means secret code word, dela hola jala means the last word, and kela kola



pela means her secret affair. Which is the word for hela in that code language? / िकसी खास कोड भाषा म┼, hela
dela kela का मतलब ह ैsecret code word, dela hola jala का मतलब ह ैthe last word; kela kola pela का मतलब ह ैher
secret affair | उसी कोड भाषा म┼ hela के िलए ℓा शо ह?ै

affair

last

secret

code

Correct Answer :­code 

20)

Question Stimulus :­

The simplest form of 30xy + 20yz­10xy­5yz is / 30xy + 20yz­10xy­5yz का सबस ेसरल ╜प
है

20xy+15yz

15yz+15xy

20yz+20xy

None of these / इनम┼ स ेकोई नहीं

Correct Answer :­20xy+15yz 

21)

Question Stimulus :­

If 812A8 + 2A53A = 10881B, then A=? / यिद 812A8 + 2A53A = 10881B, तो A=?

7

3

9

1

Correct Answer :­7 

22)

Question Stimulus :­



Shahid bought a table for Rs. 200 & sold it for Rs. 250.What is his gain percentage? / शािहद
न े200 ╛पय ेका एक मजे खरीदा और उस े250 ╛पय ेम┼ बचे िदया। उसका लाभ ▀ितशत ℓा ह?ै

45%

35%

25%

15%

Correct Answer :­25% 

23)

Question Stimulus :­

A man crosses a 450 m long street in 5 minutes. What is his speed in km/h? / एक आदमी 450 मीटर लѕी सड़क को
5 िमनट म┼ पार करता ह।ै उसकी गित िकमी/घटंा म┼ िकतनी होगी?

3.6

7.2

8.4

5.4

Correct Answer :­5.4 

24)

Question Stimulus :­

A train covers distance of 10 km in 8 minute. If its speed is increased by 5 km / h then the ĕme taken to cover the same
distance will be? / एक ट├ेन 8 िमनट म┼ 10 िकमी की दूरी तय करती ह।ै यिद उसकी गित 5 िकमी/घटंा स ेबढ़ा दी जाती ह ैतो
उस ेउतनी ही दूरी तय करन ेम┼ िकतना समय लगगेा?

7.5 min / 7.5 िमनट

7 min / 7 िमनट

6.5 min / 6.5 िमनट

6 min / 6 िमनट

Correct Answer :­7.5 min / 7.5 िमनट 

25)



Question Stimulus :­

35+12‐17+83‐7 = ?

106

96

86

76

Correct Answer :­106 

26)

Question Stimulus :­

How many liters of acid are there in 12 liters of a 20% solution? / 20% िवलयन के 12 लीटर
म┼ िकतन ेलीटर अќ होता ह?ै

2.4

4.8

3.6

1.2

Correct Answer :­2.4 

27)

Question Stimulus :­

Which is the least positive number to be subtracted from numerator and the
denominator of the fraction 2:3 to make the ratio as 6:5? / अनपुात 6:5 बनान ेके िलए िभК 2:3
के अशं एव ंहर स ेकौन सी РЋूम धनाΫक सġंा घटायी जानी चािहए?

8

10

9

12

Correct Answer :­8 

28)



Question Stimulus :­

45% of 1800+60% of 1500=? of 3420 / 1800 का 45%+1500 का 60%= 3420 का ?

40%

60%

55%

50%

Correct Answer :­50% 

29)

Question Stimulus :­

Complete the series choosing the missing number: / िवलЧु सġंा चनुकर ▓खंला को परूा कीिजए :

1,6,15,_____,45,66,91

25

26

27

28

Correct Answer :­28 

30)

Question Stimulus :­

If BANGALORE is coded as YZMTZOLIV, how is KOLKATA coded? / यिद BANGALORE को
YZMTZOLIV स ेकोिडत िकया जाता ह,ै तो KOLKATA को कैस ेकोिडत िकया जाता ह?ै

PLOPZDZ

QLOPZGZ

PLOPYGY

PLOPZGZ

Correct Answer :­PLOPZGZ 

Topic:­ Science and Simple Arithmetic



1)

Question Stimulus :­

Eutrophication is the result of  / सपुोषण इसका पδरणाम है

Air pollution / वाय ु▀दूषण

Noise pollution / Ѕिन ▀दूषण

Water pollution  / जल ▀दूषण

Soil pollution  / मदृा ▀दूषण

Correct Answer :­Water pollution  / जल ▀दूषण 

2)

Question Stimulus :­

Recently many landslides have been reported in certain parts of our country. The reason behind it is / हाल ही म┼ हमारे
दशे के कुछ भागो ंम┼ ब╟त स ेभूּבलनो ंकी सचूना दी गई ह|ै इसके पीछे कारण है

Global warming / ĸोबल वािम┤ग

Deforestaĕon / वनोПलून

Droughts / अनावεृь ट

Forest fires / वन अिĬ

Correct Answer :­Deforestaĕon / वनोПलून 

3)

Question Stimulus :­

Producĕon of coĥon by a company (in 10000 tonnes) over the years. / िनђ वष╗ के दौरान कंपनी ύारा ╜ई का
उΧादन। (10000 टन म┼)



What was the percentage increase in production of cotton in 1992 compared that in 1985?
/ वष└ 1985 की तलुना म┼ 1992 म┼ ╜ई के उΧादन म┼ िकतन े▀ितशत की वεृο ╟ई थी?

320%

220%

420%

240%

Correct Answer :­220% 

4)

Question Stimulus :­

The simple interest at x% for x years will be Rs. x on a sum of: / x% की दर स ेx वष╗ म┼ साधारण хाज x ╜पए
होगी, इस रािश के िलए:

Rs. 100x

Rs.

Rs. x

Rs.

Correct Answer :­Rs.  



5)

Question Stimulus :­

A fuse is a safety device consisting of a wire made of / зजू एक सरुāा उपकरण ह ैजो एक तार स ेबना होता ह ैजो
इसस ेबनी होती ह ै:

A high resistance material  / एक उŗ ▀ितरोध पदाथ└

A good conductor / एक सचुालक

A low melting metal or alloy / एक िनђ गलन धात ुया िम▓ातु

An insulating material / एक िवद्युत रोधी पदाथ└

Correct Answer :­A low melting metal or alloy / एक िनђ गलन धात ुया िम▓ात ु

6)

Question Stimulus :­

Oil and Vinegar is used in pickles to________  /  अचार म┼ तले और िसरका का ▀योग इसिलए होता है

Add  taste / ּתाद बढ़ान ेके िलए

To prevent it from getting dry / उस ेसखून ेस ेबचान ेके िलए

Both the ingredients create an unfavorable environment for microbes / दोनो ंसामि╣या ंरोगाणओु ंके िलए एक
▀ितकूल माहौल बनाती ह╒

Oil reduces moisture /  तले नमी को कम करता है

Correct Answer :­Both the ingredients create an unfavorable environment for microbes / दोनो ंसामि╣यां
रोगाणओु ंके िलए एक ▀ितकूल माहौल बनाती ह╒ 

7)

Question Stimulus :­

Production of cotton by a company (in 10000 tonnes) over the years. / िनђ वष╗ के दौरान कंपनी
ύारा ╜ई का उΧादन। (10000 टन म┼)



In how many years of the given years was the producĕon of coĥon more than the average producĕon of the given years? /
िदए गए वष╗ म┼ स ेिकतन ेवष╗ म┼ ╜ई का उΧादन उस वष└ के औसत उΧान स ेअिधक रहा?

1

2

3

4

Correct Answer :­4 

8)

Question Stimulus :­

A polished surface is a / एक पॉिलश िकया ╟आ सतह ह:ै

Good absorber of heat / ऊעा का अŜा अवशोषक

Good radiator and bad absorber of heat / ऊעा का अŜा िविकरक एव ंबरुा अवशोषक

Bad absorber and bad radiator of heat / ऊעा का बरुा अवशोषक एव ंबरुा िविकरक

Good absorber and good radiator of heat / ऊעा का अŜा अवशोषक एव ंअŜा िविकरक

Correct Answer :­Bad absorber and bad radiator of heat / ऊעा का बरुा अवशोषक एव ंबरुा िविकरक 

9)

Question Stimulus :­

A spore producing plant is / ּמोर उतपािदत करन ेवाला पौधा है



Spirogyra / ּמाइरोगाइरा

Algae / शवैाल

Fern / फन└

Ginger / अदरक

Correct Answer :­Fern / फन└ 

10)

Question Stimulus :­

Producĕon of coĥon by a company (in 10000 tonnes) over the years. / िनђ वष╗ के दौरान कंपनी ύारा ╜ई का
उΧादन। (10000 टन म┼)

The average producĕon of 1986 and 1987 was exactly equal to the average producĕon of which of the following years?
/ वष└ 1986 एव ं1987 का औसत उΧादन इनम┼ स ेिकन वष╗ के औसत उΧादन के िब№ुल समान था।

1990 and 1991 / 1990 एव ं1991

1989 and 1990 / 1989 एव ं1990

1985 and 1991 / 1985 एव ं1991

1988 and 1990 / 1988 एव ं1990

Correct Answer :­1985 and 1991 / 1985 एव ं1991 

11)

Question Stimulus :­

Which of the following is not divisible by 2? / िनђिलεखत म┼ स ेकौन 2 स ेिवभाǿ नही ंह?ै



3576516

9130255

78705920

13627918

Correct Answer :­9130255 

12)

Question Stimulus :­

If  , which of the following statement is true? / यिद  , िनђिलεखत म┼ स ेकौन सा कथन
सέ ह?ै

tan θ is always greater than one / tan θ सदवै एक स ेबड़ा होगा

tan θ is always less than one / tan θ सदवै एक स ेछोटा होगा

tan θ lies in the interval [0, 2] / tan θ  [0,2] के अतंराल म┼ εэथत होगा

tan θ lies in the interval [0, 1] / tan θ  [0,1] के अतंराल म┼ εэथत होगा

Correct Answer :­tan θ lies in the interval [0, 2] / tan θ  [0,2] के अतंराल म┼ εэथत होगा 

13)

Question Stimulus :­

The non­polluting & eco­friendly natural resource  of energy is / ऊजा└ का अ▀दूिषत और पाδरिम╨
▀ाकृितक साधन है

Sunlight / धपू

Petroleum / पटे├ोिलयम

Coal / कोयला

Wood / लकड़ी

Correct Answer :­Sunlight / धपू 

14)

Question Stimulus :­

The length of a tangent from a point A at distance 5 cm from the centre of the circle is 4 cm. Find the radius of the
circle. / वतृ के क┼╪ स े5 समेी. की दूरी पर εэथत िबदं ुA स ेउस वतृ पर εखचंी गयी ּמश└ रेखा की लѕाई 4 समेी. ह।ै



वतृ की ि╨ǿा ŵात कीिजय।े

4 cm / 4 समेी.

3 cm / 3 समेी.

5 cm / 5 समेी.

 समेी.

Correct Answer :­3 cm / 3 समेी. 

15)

Question Stimulus :­

Who coined the term ‘cell’? / ‘सले’ शо िकसन ेिनिम└त िकया?

Robert Brown / रॉबट└ █ाउन

Robert Hooke / रॉबट└ ╟क

Edward Jenner / एडवड└ जनेर

Louis Pasteur / लईु पाמर

Correct Answer :­Robert Hooke / रॉबट└ ╟क 

16)

Question Stimulus :­

Find the complement of ∟A = 36o / ∟A = 36o का परूक ŵात करो

144o

154o

54o

64o

Correct Answer :­54o 

17)

Question Stimulus :­

Unpleasant sounds are called / अि▀य Ѕिन कहलाती ह╒



Pitch / तारβ

Noise / शोर

Amplitude / आयाम

Frequency / आवεृѝ त

Correct Answer :­Noise / शोर 

18)

Question Stimulus :­

Producĕon of coĥon by a company (in 10000 tonnes) over the years. / िनђ वष╗ के दौरान कंपनी ύारा ╜ई का
उΧादन। (10000 टन म┼)

In which year was the percentage decline in the producĕon as compared to the previous year the maximum? / िकस
वष└ म┼ िपछल ेवष└ की तलुना म┼ उΧादन के ▀ितशत म┼ सबस ेّादा कमी आयी थी?

1986

1991

1989

1992

Correct Answer :­1986 

19)

Question Stimulus :­

Global warming is caused due to green house gases. Major green house gases are / 



भमूडंलीय ऊעीकरण ╣ीन हाउस गसै के कारण होती ह।ै मġु ╣ीन हाउस गसै ह╒

methane, carbon dioxide / मथेने, काब└न डाइऑċाइड

sulphur dioxide, methane / स־र डाइऑċाइड, मथेने

nitrous oxide, carbon dioxide / नाइट├स ऑċाइड, काब└न डाइऑċाइड

carbon dioxide, sulphur dioxide / काब└न डाइऑċाइड, स־र डाइऑċाइड

Correct Answer :­methane, carbon dioxide / मथेने, काब└न डाइऑċाइड 

20)

Question Stimulus :­

What are ferĕlizers ? / उव└रक ℓा ह╒?

Ferĕlizers are chemical substances rich in parĕcular nutrient. / उव└रक रासायिनक तβ ह╒ िजनम┼ िवशषे पोषक
तβ अिधक होत ेह╒।

Fertilizers provide humus to the soil.  /  उव└रक मदृा को हयू्मस ▀दान करत ेह╒।

Ferĕlizers does not help the soil. / उव└रक मदृा की सहायता नही ंकरत ेह╒।

Excessive use of ferĕlizers have made the soil rich. / उव└रक का अέािधक उपयोग मदृा को उपजाऊ बनाता ह।ै

Correct Answer :­Ferĕlizers are chemical substances rich in parĕcular nutrient. / उव└रक रासायिनक तβ ह╒
िजनम┼ िवशषे पोषक तβ अिधक होत ेह╒। 

21)

Question Stimulus :­

Plants lose water from their leaves. This process is called /पौध ेअपन ेपΟो ंस ेजल खोत ेह╒। इस ▀ि╡या को कहत ेह╒

Respiration / קसन

Precipitation / वष└ण

Transpiration / ▀ּתदेन

Evaporation / वाТन

Correct Answer :­Transpiration / ▀ּתदेन 

22)

Question Stimulus :­



Some of the ancient time measuring devices / ▀ाचीन काल के समयमापन उपकरणो ंम┼ स ेकुछ ह╒ :

Sun dial / धपू घड़ी

Sand clock / रेतघड़ी

Water clock / जलघड़ी

All of the above / उपरो♣ सभी

Correct Answer :­All of the above / उपरो♣ सभी 

23)

Question Stimulus :­

Evaluate  का मान होगा।

1

0

2

Abc

Correct Answer :­0 

24)

Question Stimulus :­

If the circumference of a circle is 123.2 cm, then the radius of the circle is _____________. / यिद वतृ की पδरिध 123.2
समेी ह,ै तब वतृ की ि╨ǿा होगी_____________|

19.6 cm / 19.6 समेी

17.6 cm / 17.6 समेी

19.2 cm / 19.2 समेी

19.8 cm / 19.8 समेी

Correct Answer :­19.6 cm / 19.6 समेी 

25)

Question Stimulus :­



Find the area of the parallelogram, shown in the following figure / नीच ेदशा└ए गए िच╨ म┼, समातंर चतभु└ुज का ā╨ेफल
ŵात कीिजए

2250 m2 / 2250 मीटर 2

880 m2/ 880 मीटर 2

8.8 km2 / 8.8 िकमी 2

2.25 km2 / 2.25 िकमी 2

Correct Answer :­880 m2/ 880 मीटर 2 

26)

Question Stimulus :­

The digit in the units place of the cube 26538533 ______________ / घन 26538533 म┼ इकाई के эथान पर
अकं______________ह।ै

6

9

3

7

Correct Answer :­7 

27)

Question Stimulus :­

The size and nature of the image formed by a pin hole camera is / एक िपन होल कैमरा ύारा बनाय ेगय े▀ितिबबं का
आकार एव ं▀कृित इनम┼ स ेकैसा होगा?

Real, inverted and magnified /  वाּהिवक, उֳा और आविध└त

Virtual, erect and magnified  / आभासी, सीधा और आविध└त

Real, inverted and diminished / वाּהिवक, उֳा और ▲ािसत

Virtual, erect and diminished / आभासी, सीधा और ▲ािसत



Correct Answer :­Real, inverted and diminished / वाּהिवक, उֳा और ▲ािसत 

28)

Question Stimulus :­

Mamatha and Manju started a business with an iniĕal investment in the raĕo 14 :15 and their annual profits were in
the raĕo 7 : 6. If Mamatha invested the money for 10 months, for how many months did Manju invest his money? /
ममता एव ंमजं ून े14:15 के अनपुात म┼ ▀ारंिभक िनवशे स ेएक יापार की श╛ुआत की एव ंउनका वािष└क लाभ का
अनपुात 7:6 था। यिद ममता न ेरािश को 10 महीनो ंके िलए िनवशे िकया, तो मजं ून ेरािश को िकतन ेमहीनो ंके िलए
िनवशे िकया?

8

6

9

7

Correct Answer :­8 

29)

Question Stimulus :­

Objects appear to be less heavy when submerged in water than in air because / जल म┼ जलमĬ एक वּה ुवाय ुकी
अपāेा कम वजनी ▀तीत होती ह ैℓोिंक

The water exerts an upward force on the object / जल वּה ुपर एक उЅ└ बल लगाती है

The water exerts a downward force on the object / जल वּה ुपर नीच ेकी ओर बल लगाती है

The water exerts no force on the object / जल वּה ुपर कोई बल नही ंलगाती है

The water exerts force on the object in all direcĕons / जल वּה ुपर हर िदशा स ेबल लगाती है

Correct Answer :­The water exerts an upward force on the object / जल वּה ुपर एक उЅ└ बल लगाती ह ै

30)

Question Stimulus :­

Producĕon of coĥon by a company (in 10000 tonnes) over the years. / िनђ वष╗ के दौरान कंपनी ύारा ╜ई का
उΧादन। (10000 टन म┼)



What was the percentage decline in the producĕon of coĥon from 1987 to 1988? / 1987 स े1988 के ╜ई के उΧादन म┼
िकतन े▀ितशत की कमी ╟ई थी?

33 1/3 %

30%

25%

12%

Correct Answer :­25% 


